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L. x mwn: parameters of NP>t as a subset of NRk¥1N — throwing something from >”n7 7”07 (or vice-versa) is 27N
a. However: throwing from »"n7 "M through/over a 1"m
i. 7. liable
ii. o’pon. exempt

1. 737 is dispute within 10 (»™ takes position of nn1NY m NVYP) but they agree to exemption above 10?

a. Or:is dispute above 10 (»" infers pn1 from 77ayn) but they agree to liability below — due to nv19p?
iii. ~213p77 /7. from ®n»72 which records same dispute if he carried through “nnxy 9”77” — must be below 10

1. And: this dispute must be about p71, as all agree that 17ayn is liable even above 10 (from nnp »1 xwn)
a. Conclusion: dispute is within 10, and issue is whether we accept ®'n7 nnnnw > NVYP

2. Note: na7’s framing of question is at odds with 8™, who maintains that " held liability even above 10
a. And: the reason for the wording “nnxy 0’170 mw1” is to show the extent of 1327’s leniency

3. Note: X"’s approach is at odds with »2y0 92 pYn "1 — all agree to 2vn if lower than 3, to 104 if above 10
a. And: dispute is between 3 and 10
b.  Note: Rn»7a supports this read, noting that if above 10, it is “only” maw

i. And: if he owned both 0 mnwy, it is permitted
1. Note: this seems to be at odds with 14, who ruled (contra Y8nw) that if he owns a home on
each side of 9”11, he may not throw from one to the other
2. Block: we established that that dispute is about houses that are uneven
a. Reason: it may fall between them and he may carry it

4. Related discussion (8212071 711 n79): source for 1125 (less than v”3 of distance considered “ignorable”)
a. Suggestion: 17 isn’t perfectly flat
b.  Counter: if so, why stop at just less than 3 n'nav?
c.  Additionally: why are n2v nnaT valid if they reach within v”3 of the ground? (v:x n210)

i Answer: it is a n¥»nn which the goats cannot get under
d. Additional counter: why does T1% work in the air (1210 mia7 within v of the 72v)
i. Answer: the principle of ™15 is n"non

II. 12 mwn: example of X Mmwn
a. If: 2 balconies face each other over the width of 1”7, throwing and passing from one to the other is 108
b.  However: if the 2 are on one side (of 1"m) then handing from one to the other is 27n, but not throwing
i. Reason: oY used to hand o'w1p from one wagon (*"n1) to the next, but not throw
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III.  Exploration of source for nxxn (which is the ar of “throwing”) — and 9”172 "1 1ayn (source for 1”771 NPT — 1R’ NIY)
a.  ANYiET Y - vv. 1, 3 - nwn was in % mnn (1”m) and told »"11 not to bring donations from tents (>"n7) to him

i. Note: not due to v. 2 (donations being complete), per nyayn::n7ayn - just as v. 3 is on MoK DY (3"1v), so v. 1
1. And:noinnis adduced by principle of “identity” — same essential act (taking from domain to domain)
ii. Observation: Nk is the aR, establishing that if it is done with a n79 1, only one avn

1. 5N’ maintains liability for N9 along with ar — calls that which was significant in 12vn — "ar”
a.  Alternatively: that which is written (?) is considered 1y, if adduced or implicit — 175
b. 77772 mpx yaIx: various suggestions re: weavers or sewers throwing tools to each other or to others
i. Challenge: v. 4 — wouldn’t lend to others while working on 12wn
ii. Rather: 9"n7a ®"1 is a n"n%n
IV. Discussion about the wwipn (v. 5) — the violation and his identity
a. /K5 could be N3N (27): WN (RN — by uprooting wood); AMMYnN (3pY? 12 RNR 1 — by piling wood)
i. Note: only purpose of the inquiry is re: DIno n%n that (when correctly understood) notes that 1 naxon
carries no liability; each of these authorities held that the naxYn they identified is not a candidate for 109
b. Identity: ™ identified him, based on 927n1::92T02 (VV. 5-6) as Tnay

i. 71703 13 imiv “r. rebuked y™; if correct, he is disclosing that which n1n kept discreet; else — »71 nw ®xn
1. Note: nvna 12 N 1 evidently didn’t have same tradition about that nnw nm
ii. Rather: he was one of the D¥%%ayn (v. 7)
c.  Similar dispute between them: re: v. 8 — if 1378 also got ny1x (¥™) or "pa” refers just to 'n’s “anger”
i. Note: ®na supports " based on v. 9

1. Tangents: about nyax (vv. 10-13); re: nwn’s baseless suspicion of »"11’s faithlessness etc.
a. And: about the miracles of nyax and the non (vv. 14-16)
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